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LSE-7 : TAXONOMY AND EVOLUTION
Time : 2 hours Maximum Marks : 50

Note :

(i) Question No. 1 is compulsory.
(i) Attempt any four questions from question
No. 2 to 6.

1. (a)

(b)

(©)
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Match the items given under Column A with 4

those given under Column B :
Column A Column B

(i) John Ray Nematode

(ii) Ciliophora Systema naturae

(iii) Linnaeus Mammalia

(iv) Pseudocoelom Paramecium

Expand the following terms : 3

@ IAPT

(i) ICZN

(iii) OTU

Choose the correct alternative from those 3

words given in the parenthesis :

(i) In (allopatric/sympatric) system,
speciation occurs by the more or less
equal sub division of a large
population.
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2. (a)

(b)

(b)

(©
4. (a)
(b)
5. (@)

(b)
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(ii) The cranial capacity of Homo habilis
was close to (800/1200)c.c.

(i) Bryophytes include (mosses/fungi).

List the two cytological techniques
commonly used in taxonomy. How
cytological approaches can help in
identifying organisms ?

What is numerical taxonomy ? List any five
principles used in numerical taxonomy.

Describe the action of natural selection in
uniform environment.

Discuss the role of vestigial organs in
relation to evolution.

Briefly describe the importance of type
specimen in the identification of herbarium
specimen.

Justify the statement that “fossil records are
incomplete”.

Discuss  “ontogeny  recapitulates
phylogeny”.

Briefly describe the concept of coevolution
in host - parasite relationships with an
example.

Explain the role of biochemistry in
providing evidence in support of evolution.
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6.  Write short note on the following : 2%x4=10
' (a) Sexual selection in évolution.

(b) Characteristics of Neanderthal man

(c) Ethics used in herbarium

(d) Palynological evidences as a taxonomic tool
for plant taxonomist.
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2. (a)
(b)
3 (a)
(b)
(©)
4. (a)

(b)
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